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Solution

(a) Absolute maximum at x=0
Absolute minimum at x =#2

(b) Points of inflection at x ==+1 because the sign of /”(x)changes at x=1
and f is even
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(a) Ontheinterval 1.7 < x <19, f” is decreasing and 5 {lzanswe(
thus £ is concave down on this interval. 1:reason

® f/(x)=0 when x = 0,7, V27,37, ... 1 - identifies V7 and 3 as candidates
On [0,3] [’ changes from positive to negative ~or-
only at V7. The absolute maximum must occur at indicates that the graph of f
3
x=+7 oratan endpoint. increases, decreases, then increases
1: justifies f(V7) > £(3)
1) =5 1: answer

F(x) :f(0)+_[f/“(x) dx=5.67911
16)= f(0)+f:f'(x)dr = 557803

‘This shows that £ has an absolute maximum at x = V7.
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(a) The function fis increasing on [-3,-2] snce N i
F>0fr-3sz<-2

() z=0amdz=2

f changes from decreasing to increasing at , [1re=omdz=2ay
0 and from increasing to decreasing at 1: jusification
2

© ro=-2 1 cquation

Tangent linc is y =





